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20 4+ 5y =2
{—1:—23/:—2

A 20 — 3y = —1
(4) {3:U—4y:1

r—y—z=-5
(7) 3z —2y+z2=12
-z + 2y + 5z = 32

3r+4y —5z=>5
(10) 8r+ 7y — 10z =5
5 + 3y — bz = —4

) 122 + 3y =15
(2) {—641‘— 16y = —80

3r+ Ty =15
(5) 31
_Z Zy=2
2x+3y
2r4+y—32=4

(8) 6z + 3y — 9z =12
—4xr — 2y + 6z = -8

r+y+z=0
(11) 20 +4y— z=1
r—6y+2z2=-1
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r+2y+ z+ w=-1
20 + 5y + z+4w =3
3r+ Ty + 22+ dw =2
T+ y+22— w=-6
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r+2y+3z==k
20+ 3y —2z=2
—r— y+o2=1

32z — 16y = 128
{ —6x+3y=9

11 1
1,1
6" 14 12
(6) +1 1
——2x ] = —
9" T3 9
Tr+2y+3z2=2

(9) 20+ 4y + T2 =7
3z 4+ 6y + 11z =12

r+2y—2z=1
(12) 20+ y+62=-1
—57 — 10z =1
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